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LPC_A=read(’lpc_a.txt’,1,14);
LPC_B=read(’lpc_i.txt’,1,14);
LPC_C=read(’lpc_u.txt’,1,14);
LPC_D=read(’lpc_e.txt’,1,14);
LPC_E=read(’lpc_o.txt’,1,14);

ooooooooo LpCcOfdO0OOOOOOOOOOOOOOODOOOO
go

000000000000
é )

for o=1:5
select o
case 1
1pc=LPC_A;
case 2
1pc=LPC_B;
case 3
1pc=LPC_C;
case 4
1pc=LPC_D;
case 5
1pc=LPC_E;
end

for n=1:End
SUM = G*g(modulo(n-1,T)+1);
in(start+n)=SUM;
for i=1:order
if start+n-i >= 1 then
SUM = SUM - 1lpc(i) * out(start+n-i); // LPCOOOODO
end
end
out (start+n)=SUM;
end
start = start + End; // 0000000000000 TOOOOOOOOOD
end
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